Bt

20245 AT X B E R G HIZRE BN S i A St
5 & v, &

B ek wemrE| an | msme | s | wees | TRER ) FRER) maps | ga
1 1 6 —#H | AFIE T e 93.60 93.60
2 2 14 —4 | FFEXCHT f = 92.64 92.64
3 3 9 —4 | FHFIEXHN 1| # 4 90.80 90.80
4 4 12 —4 | FFEXH x| * 4 89.40 89.40
5 5 16 —4 A E X F T el 89.36 89.36
6 6 17 —4 | #FEXHT 2 88.80 88.80
7 7 5 —#H | AFIE T JR g 88.60 88.60
8 8 7 —4 | #FEXCHT ] * 88.50 88.50
9 9 13 —4 | AFIE T 25l 86.70 86.70
10 10 11 —4 | FFEXCHT B+E 86.20 86.20
11 11 10 —4 | AFIE T F+4g 86.10 86.10
12 12 1 —4 | WEE X 5+ 84.20 84.20
13 13 4 —H | AFIE T 2+ 84.00 84.00
14 14 3 —4 | FFEXCHE o 83.30 83.30
15 15 8 —4 | FHIEXH 2 77.20 77.20
16 16 2 —4 | #FEXCHT B« 2k 75.50 75.50
17 17 15 —4 | FHIEXH ik ) 72.60 72.60
18 1 4 —4 | WP FEERF = 92.30 92.30
19 2 9 —4 | AP EERT 3k # 92.20 92.20
20 3 5 —4 | WP FEEHRF  * 90.02 90.02
21 4 2 —4 | AP EERT FfE 88.40 88.40
22 5 10 —4 | WP FEERF 2+ 1L 88.36 88.36
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23 6 8 —4 | wmEEERF H 88.30 88.30

24 7 3 —4 | #EFEEH B 87.20 87.20

25 8 1 —4 | WP FEEHF Bi* %% 86.20 86.20

26 9 6 —4 | WP EEH) 2k 83.60 83.60

27 10 7 —4 | ERFEEH AoxE 80.90 80.90

28 1 7 = | AR e B ik 92.70 92.70

29 2 4 LY L B 90.60 90.60

30 3 6 —4H | MR EH &g 88.50 88.50

31 4 3 LY & B Fy 86.80 86.80

32 5 1 = | A e % 85.50 85.50

33 6 12 LY E 73 85.10 85.10

34 7 2 —4H | MR EH FfE 84.60 84.60

35 8 15 LY & pUEY N 84.20 84.20

36 9 19 —4H | MR EH T+ 4 83.40 83.40

37 10 16 LY E B * 83.20 83.20 1A R 5768.6
38 11 20 —4 | wmEHEHE Fx 83.20 83.20 IR R 5765
39 12 13 LY & Fex 83.10 83.10

40 13 9 = | AR e 3 81.50 81.50

41 14 5 LY L Fadf 81.20 81.20

42 15 8 =4 | A e 3% 80.80 80.80

43 16 18 LY L X Al 80.70 80.70

44 17 10 =4 | A e K 80.00 80.00

45 18 11 LY E B 76.80 76.80

46 19 17 —4H | MR EH T 75.20 75.20

47 20 14 LY EE x|+ E 74.00 74.00
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48 1 6 — 4 | W BEHITA N 92.80 92.80

49 2 12 —H | WERREHIFA | T 90.10 90.10

50 3 4 —H | R REHITA | E3% 89.90 89.90

51 4 20 —H | FIEBEHIFA R 88.20 88.20

53 5 17 —H | W BREHIFA | ExHf 87.60 87.60 K R 5763.8
52 6 13 W | MR BERIFA | 26 87.60 87.60 K A 5762
54 7 3 —4 | MR REHIFA | Zxt 87.40 87.40

55 8 2 — 4| M EOEHITA N 87.30 87.30

56 9 8 — 4 | MR EEHITA E»g«*% 86.70 86.70

57 10 7 —H | WEBREHIFA | I 86.60 86.60

58 11 22 — 4 | MR EEHTA ¥ * 85.60 85.60

59 12 5 —4 | IHRBEHITA | kT 85.40 85.40

60 13 15 —H | WEREHIFA | A 85.30 85.30

61 14 16 —H | FIEBUEHIFA B 85.20 85.20

62 15 19 — 4 | MR EEHITA ER 84.20 84.20

63 16 23 —H | FIEBUEHIFA B« A 84.00 84.00

64 17 21 — 4 | MR EEHITA L 83.90 83.90

65 18 1 —H | MR BEHITA | s 83.60 83.60

66 19 10 —4H | MR BREHIFA | ExA 83.40 83.40 K R 5760
67 20 18 —H | WP BIEHIFA | FxEh 83.40 83.40 IR AL 553.6
68 21 9 — 4| WP BREHITA | Bl 81.90 81.90

69 22 14 —4 | WRBOUEHITA | Exlh 81.20 81.20

70 23 24 — 4 | MR EEHITA 2 80.70 80.70

71 24 11 —4 | IR RERITA | Za0K 75.00 75.00

72 1 9 — 4 | WP EREHTB 2 92.20 92.20
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73 2 6 — 4 | WP EREHTB Fx 87.80 87.80
74 3 10 — 4 | WP EREH B ¥ 41 87.50 87.50
75 4 4 —H | MEBUEHEB | RE 86.60 86.60
76 5 5 —H | IR BIEHEB | TFE 84.60 84.60
77 6 2 — 4 | WP EREHTB %2 83.80 83.80
78 7 1 —H | IR BIEHIEB | 83.20 83.20
79 8 7 — 4 | WP EREHTB 25 82.60 82.60
80 9 8 — 4 | WP EREHB A5 % 81.40 81.40
81 10 3 — 4 | WP EREHB TS 80.50 80.50
82 1 2 =4 | WEmER) A5« 31 92.44 92.44
83 2 4 =4 | FMEHEHRNE K * 89.90 89.90
84 3 6 =4 | WEHER) = 86.04 86.04
85 4 1 =4 | FEHEHRNE F o= 85.62 85.62
86 5 5 =4 1 B ok * 57 84.64 84.64
87 6 3 = | WEHER IR 79.66 79.66
88 1 10 =4 | WEAEMH) T+ 92.40 92.40
89 2 7 =4 | AR H* 92.00 92.00
90 3 3 =4 | TR ERH it 91.00 91.00
91 4 5 =4 | AR F+F 88.60 88.60
92 5 9 =4 | FEEH JE * 87.60 87.60
93 6 8 =4 | AR 4] 86.60 86.60
94 7 2 =4 | FIEEH x|+ & 86.00 86.00
95 8 6 =4 | AR % A 83.60 83.60
96 9 1 =4 M A B i 83.20 83.20
97 10 4 = | WEAEHE) Eikal) 81.60 81.60
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B (miak wERE| an | mgme | s | wees | FRER ) FRER ) mapa | gu
98 1 2 =4 WohiE BRI EHE 0 Kk« 92.40 92.60 92.46
99 2 4 —4 Wi REE AN #+ 92.70 91.00 92.19
100 3 5 =4 WirEEAEHE X+E 89.50 87.60 88.93
101 4 7 =4 WiHE EA A x|xiE 89.20 83.00 87.34
102 5 6 =4 Wi fE EREBE  IF 81.80 94.12 85.50
103 6 3 =4 Wi EREREHE R 81.80 79.60 81.14
104 7 1 =4 Wi EREBE  $xx 76.20 85.60 79.02
105 1 4 =4 | WEEARH) T * 93.40 90.84 92.63
106 2 5 =4 | M EAREKIT TR+ 2R 91.30 92.30 91.60
107 3 3 =4 M E AR Tz 88.56 93.60 90.07
108 4 2 =4 | MEEAREKIT 52 90.46 83.24 88.29
109 5 7 =4 Xl T*W 88.14 85.62 87.38
110 6 9 =4 | MEEAREKIT Frzp 85.90 89.42 86.96
111 7 6 =4 | FEEARH Fh+ 32 89.02 81.42 86.74
112 8 8 =4 | HEEARHN B 83.86 79.62 82.59
113 9 1 =4 | FEEARH e F 77.24 87.84 80.42
114 1 23 W | R ARE #ITA ] *IF 91.00 88.08 77.04 88.47
115 2 25 W | ATHERE HZITA | xR 90.56 84.24 81.34 88.23
116 3 5 W | AR RERA | ZxfE 90.44 81.70 76.60 87.05
117 4 22 W | FHRARE HITA 2E % 87.36 90.76 80.98 86.91
118 5 17 W | FTHEARE HITA | gk 88.00 84.66 76.34 85.75
119 6 24 WA | FTHEARE BUFA s 4 88.96 76.06 77.24 85.27
120 7 16 W | R ARE A 2% 88.46 78.92 75.30 85.06
121 8 27 W | FHRARE HITA x|+ 87.16 86.88 73.16 85.02
122 9 21 W | AR ERITA | D 86.48 77.36 82.50 84.52
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123 10 7 W | HFREHTA | xR 86.90 83.26 73.86 84.40
124 11 28 W | MHREHTA | FR 83.98 83.26 75.16 82.55
125 12 6 W | MEREHRTA | FE 83.92 80.80 74.56 82.05
126 13 1 WA | ATHEERE RITA | Zxp 82.54 83.54 74.72 81.52
127 14 29 WA | MHREHTA | B 81.64 78.60 74.68 80.14
128 15 26 W | IR RERITA | 80.88 81.80 74.18 80.01
129 16 13 WA | MHFREHITA | Rl 79.86 83.02 75.80 79.73
130 17 11 WA | HRE HTA K x 7h 78.76 78.52 78.82 78.73
131 18 14 W | R ARE A 7] * 77.04 87.50 74.24 78.19
132 19 15 WA | FTHEARE BUFA % % 76.92 82.48 74.32 77.36
133 20 3 W | MEREHRTA | Bk 77.92 77.26 73.94 77.22
134 21 12 W2 | FIFRE HITA | sk 77.04 76.18 72.90 76.29
135 22 18 W2 | FIHRARE HITA | FxfE 76.42 73.06 76.76 75.97
136 23 20 WA | FTHEARE BUFA W+ 74.28 83.34 73.98 75.59
137 24 9 W | R ARE #ITA X * 74.70 80.40 73.40 75.36
138 25 10 WA | ATHEERE HITA | meF 73.54 74.88 83.52 75.24
139 26 4 W | R ARE #ITA EEE: 73.26 79.28 73.70 74.23
140 27 19 WA | THERE HZITA | R« 71.02 79.78 79.42 73.59
141 28 2 W | MFREHRTA | Fxw 71.20 78.80 74.96 72.90
142 29 8 W2 | IR RERITA | EF 65.00 72.76 72.36 67.27
143 1 3 FH | FHARE B B+ 90.40 90.62 92.42 90.74
144 2 18 A | MFREHEB | A 89.84 90.22 89.74 89.88
145 3 38 FH | FIHARE H)IB B 89.96 89.90 88.36 89.71
146 4 5 FH | FIHRE #)IB F#fE 90.96 89.94 83.00 89.61
147 5 28 FH | FHARE B 2w 89.36 89.10 90.52 89.50
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148 6 8 Y | MFREHRTB | Z+4 91.80 85.26 82.30 89.39

149 7 33 4 | WMEAREHEB | FE 89.50 90.56 87.22 89.32

150 8 6 A | MFREHEB | x+F 89.30 89.82 87.78 89.15

151 9 30 T4 | WP AREHFB | 88.00 90.28 92.08 88.95

152 10 9 FH | FHARE B F 1z 87.74 88.52 93.00 88.65

153 11 2 A | AR E HFB F o+ 88.42 92.44 84.38 88.42

155 12 27 T4 | MIHEEREHIIB | T 87.08 88.74 88.52 87.55 IR ik 561
154 13 20 A | AR E HFB F 88.46 83.64 87.18 87.55 IR K 5259
156 14 37 A | MR EHITB s 87.18 88.04 88.70 87.54

157 15 23 K | MPREHFB | B« 84.94 90.76 94.24 87.21

158 16 12 Y | MFREHFB | g8 87.70 86.70 84.66 87.09

159 17 36 T4 | WA E HFB £ 87.24 87.10 86.02 87.04

160 18 15 A | MPREHFB | 85.54 89.64 91.16 87.00

161 19 24 FH | FIFARE #)IB 2 # 85.40 89.76 90.64 86.84

162 20 11 FH | FHARE B Z * 86.76 90.24 83.34 86.77

163 21 13 M | P AREHRITB | ) 85.84 90.40 87.06 86.71

164 22 25 Y | MFREHREB | Ak 86.26 87.20 84.16 86.09

165 23 10 FH | FIFARE #)IB 0 5 83.74 91.04 91.86 86.05

166 24 31 FH | FHARE B A5 85.28 84.14 89.14 85.69

167 25 14 M | IFREHRITB | &xE 84.66 89.62 86.34 85.66

168 26 26 FH | FHARE B E+H 83.86 90.36 87.46 85.38

169 27 7 FH | FIHARE #)IB Bl 85.14 83.84 86.62 85.17

170 28 35 FH | FIHARE H)IB T %4 83.82 86.40 84.74 84.35

172 29 32 A | WHFARE HIFB F 83.44 87.80 82.38 83.94 I B 5763
171 30 19 FH | FHARE B Bk 83.40 86.24 84.14 83.94 IR R 5758
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173 31 17 FA | MIHPRERIFB | Tl 83.18 83.64 86.64 83.77
174 32 34 R | I EREHIFB | Fug 81.08 86.24 93.06 83.65
175 33 16 FH | FIHARE #)IB S 81.14 90.04 87.28 83.40
176 34 29 FH | FIFRE #)IB T *1F 82.80 81.20 84.32 82.79
177 35 22 FH | FHARE B T+ E 80.84 84.50 84.08 81.88
178 36 21 A | TP EREHRIFB | #eE 79.34 89.36 84.72 81.65
179 37 1 FH | FIHARE #)IB T+ 79.44 87.52 85.80 81.61
180 38 4 T4 | WA E HFB e x 60.00 82.82 83.96 67.02
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